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ulia> H5=[1/(i+j-1) for i=1:5,j=1:5] c
%5 Matrix{Float64}: —_ -
1.0 0.5 0.333333 0.25 .2 (R =M 2= o)
0.5 0.333333 0.25 0.2 .166667 J 1=l
0.333333 0.25 0.2 0.166667 . 142857 julia> 1+1/2+1/3+1/4+1/5
0.25 0.2 0.166667 0.142857 .125 2.283333333333333
0.2 0.166667 0.142857 0.125 111111 o
julia> opnorm(H5,1)
2.283333333333333
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julia> using LinearAlgebra

julia> cond(H5)
476607.25024259434
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julia> x=ones(5) julia> b=H5%*x
5-element Vector{Float64}: 5-element Vector{Float64}:
1.0 | 2.283333333333333

1.45

1.0928571428571427
0.8845238095238095
0.7456349206349207
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julia> xapp=H5\b

5-element Vector{Float64}:
0.9999999999999578

1.0000000000006084
0.9999999999978405
1.0000000000027782
0.9999999999988143




julia> H10=[1/(i+j-1) for i=1:10,j=1:10];

julia> x=ones(10);
julia> b=H1l0*x;

julia> xapp=H1l0\b
10-element Vector{Float64}:
.0000000004766838
.9999999590501241
.0000008692519378
.9999921141445542
.0000375643596116
.999896823042628
.0001691902590395
.9998365530003722
.000085790575106
.9999811355093464

julia> cond(H10) /\Tl)d') 19 \)t o jOV'
1.6024416992541715e13 swudl MAA#DX

julia> cond(H10)
1.6024416992541715e13
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julia> bapp=H1l0*xapp;
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julia> norm(bapp-b)/norm(b)
1.224858843104039%-16 bk L Lt ops B s

Qsulote Prechion .

makiclon, esun " Hus WNL 200 , ., L U aows
g Y Y ML»‘}LM M‘)TM LMoy % Wm\‘ﬂ \D“‘g SX‘D,




julia> P5=[binomial(i+j-2,i-1) for i=1:5,j=1:

5x5 Matrix{Int64}: julia> 1+5+15+35+70

126

11 1 1 /1
3 4 5
6 10 15

10 20 35

15 35 70

\./

julia> cond(P5)
8517.524361138405 )04

julia> b=P5%x julia> xapp=P5\b
5-element Vector{Float64} . 5-element Vecto I‘{F'l.oat64} H
5.0
15.0
35.0
70.0
126.0

julia> opnorm(P5,1)
26.0

1
1
1
1

julia> P1O=[binomial(i+j-2,i-1) for i=1:10,j=1:10]
10x10 Matrix{Int64}:

1 1 1 1 1 1 1 1
3 4 5 6 7 8 9
6 10 15 21 28 36 45

1o 20 35 56 84 120 165

15 35 70 126 210 330 495

21 56 126 252 462 792 1287

28 84 210 462 924 1716 3003

120 330 792 1716 3432 6435
165 495 1287 3003 6435 12870

220 715 2002 5005 11440 24310
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julia> x=ones(10);
julia> b=P1O*x;

julia> xapp=P10\b
10-element Vector{Float64}:
.9999999965777964
.0000000276874015
.9999998993027817
.0000002156453363
.9999997008425456
.0000002784245863
.9999998263305007
0000000699546696

.9999999834984266 julia> cond(P10) abwosy !60
.0000000017359554 4.155205690095196e9
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